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B 0100 0010 0000 0000 0100 0010 0042 
C 0100 0011 0000 0000 0100 0011 0043 
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5 0011 0101 0000 0000 0011 0101 0035 
6 0011 0110 0000 0000 0011 0110 0036 
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4.          

,     .   , 
   ,  «0». 

5.        -
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 ,    
7.   

       - , -
   ,      

 (   VBA, Pascal ABC, C#).  

  Pascal ABC 
label 1; 
var s:string; 
size_s,sk,i,j:integer; 
begin 
readln(s); 
size_s:=Length(s); 
sk:=0; 
if (size_s<>0) then 
begin 
  for i:=1 to size_s do 
  if Copy(s,i,1)='1' then goto 1; 
   
1:if i<size_s then  
  for j:=i to size_s do 
  if Copy(s,j,1)='0' then sk:=sk+1; 
end; 
writeln(sk); 
end. 
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   VBA. 

 
  ,   ,   -

 :     goto,  
      . 

    : 
•  goto       

   ,      
       

•      
   goto. 

,  VBA,      For next -
  ExitFor.  Pascal ABC   C#    -

 break.  
 ,      

var s:string; 
size_s,sk,i,j:integer; 
begin 
readln(s); 
size_s:=Length(s); 
sk:=0; 
if (size_s<>0) then 
begin 
  for i:=1 to size_s do 
  if Copy(s,i,1)='1' then break; 
   
  if i<size_s then  
  for j:=i to size_s do 
  if Copy(s,j,1)='0' then sk:=sk+1; 
end; 
writeln(sk); 
end. 

     . -
  goto         

   .     
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     ,  -

     . 

 

    ,    
  «00000»,       6, 

   .     
 Pos('1',s),      (  

     )   
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  .  
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      : 
if (i<size_s) and (i>0)   
var s:string; 
size_s,sk,i,j:integer; 
begin 
readln(s); 
size_s:=Length(s); 
sk:=0; 
if (size_s<>0) then 
begin 
  i:=Pos('1',s); 
 
  if (i<size_s) and (i>0)  then  
  for j:=i to size_s do 
  if Copy(s,j,1)='0' then sk:=sk+1; 
  end; 
writeln(sk); 
end. 

     C#  : -
 –   - ,     -
 .  –  i=s.IndexOf("1");  , -

  Pos('1',s)  Pascal ABC. 
static void Main(string[] args)

{
string s;
int i,j,size_s,sk;
s = Console.ReadLine();
size_s = s.Length;
sk = 0;
if (size_s != 0)
{

for (i = 0; i < size_s; i++)
if (s.Substring(i,1)=="1") break;

for (j = i; j < size_s; j++)
if (s.Substring(j, 1) == "0") sk++;

}
Console.WriteLine(sk);

}
 
static void Main(string[] args)

{
string s;
int i,j,size_s,sk;
s = Console.ReadLine();
size_s = s.Length;
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sk = 0;
if (size_s != 0)
{

i=s.IndexOf("1");

for (j = i; j < size_s; j++)
if (s.Substring(j, 1) == "0") sk++;

}
Console.WriteLine(sk);

}
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0 2 0 6 6 
0 2 1 7 7 
0 2 2 8 8 
1 0 0 9 9 
1 0 1 A 10 



 23

     
  

   
27-  -

 -
 

   
10-  -

 -
 3-   2-   1-   

1 0 2 B 11 
1 1 0 C 12 
1 1 1 D 13 
1 1 2 E 14 
1 2 0 F 15 
1 2 1 G 16 
1 2 2 H 17 
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 8 (   , 2010 ) 

       
 -     , , 

   2,    1,    3,   
 2,    4,    3,    5,   
 4,    6,    5,   7   -

 . 

 

 ,  . 

 

        
 ,     .  

       -
     . 

       
(   – ).  

        -
    . 

  .  

        
       ;   -
  ;    ,  -

  .        Pascal 
ABC  . 

       -
 : 

1.    n,   ,   
  ,    n, -

  . ,    -
  . 

2.    n    -
:       (n mod 2=1)  -

,        5 . 
       

 . 
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n=0 

 

 

 

 

n=n+1 

n mod 2=1 and  
n mod 3=2 and n mod 4=3 and 
n mod 5=4 and n mod 6=5 and 

n mod 7=0  
 

n 

 
 
var n:integer; 
begin 
n:=0; 
while not((n 
mod 2=1) and (n 
mod 3=2 )and (n 
mod 4=3 )and (n 
mod 5=4 )and (n 
mod 6=5 )and (n 
mod 7=0 )) do 
n:=n+1; 
writeln(n); 
end. 
 

 
   :   7    , 

,     .  , 
   n=n+1    n=n+7.  , 

   2,    1, ,  -
;     .   -

 n=n+7    n=n+14.  
 ,       -

        
 (    ). 
    ,   -

,     5,     4,   -
,      4,   9.    

 , ,     9.  
   ,   -

 ,   7    9 –  49;  
 –  49+70=119;  119+70=189,  . . 

   .  ,  
       n   -

     2,  5   7,   -
   . 
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n=49 

 

 

 

 

n=n+70 

n mod 3=2 and n mod 4=3 and 
n mod 6=5 and  

 

n 

 
 
 
var n:integer; 
begin 
n:=49; 
while not(and (n 
mod 3=2 )and (n 
mod 4=3 )and (n 
mod 6=5 )) do 
n:=n+70; 
writeln(n); 
end. 
 

,   ,    
,   :      

 ,    .   
     .  

 . 
 

n=49 

 

 

 

 

n=n+70 

n 

n mod 3=2  

 

 

n mod 4=3  

 

 

n mod 6=5  

 
 
 
var n:integer; 
b:boolean; 
begin 
n:=-21; 
b:=true; 
while b do 
  begin 
  n:=n+70; 
  if n mod 3=2 
then 
    if n mod 4 
=3 then 
      if n mod 
6=5 then 
      
b:=false; 
   end; 
writeln(n); 
end. 
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:      - . -

       - ,  
  ,    

,  goto.       
       while. 

      -
,   true/false ( / ),  -
  :      

    ,   
     . 

        
    n (   )  

49-70=-21. 
    -  119. 

 ,      
. ,      -

,     : 
1.   ,    

  . 
2.    (if),     -

    ,       -
     . 

   :  -   
    ,   

  .    -
    : 

    if   
var n:integer;
b:boolean; 
begin 
n:=-21; 
b:=true; 
while b do 
  begin 
  n:=n+70; 
  if n mod 3=2 then 
    if n mod 4 =3 then 
      if n mod 6=5 then 
      b:=false; 
   end; 
writeln(n); 
end. 

var n,i,sk:integer;
b:boolean; 
begin 
n:=-21; 
b:=true; 
while b do 
  begin 
  n:=n+70; 
  sk:=0; 
    for i:=3 to 6 do 
      if n mod i<>i-1 then 
break 
      else sk:=sk+1; 
  if sk=4 then b:=false; 
  end; 
writeln(n); 
end. 
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       -
  .   ,   

 ,   ,    
 : 
•   ,   -

   ;    -
  – ,  . 
•       5   4, -

          
    n. 

     :  VBA  C# 
 sk   .      

 for       , 
    ,  -

     .  ,   
  (   ,  break)  -

   (   )  7.   -
      . 

Pascal ABC C# VBA 
var n,i,sk:integer; 
b:boolean; 
begin 
n:=-21; 
b:=true; 
while b do 
  begin 
  n:=n+70; 
  sk:=0; 
    for i:=3 to 6 
do 
      if n mod 
i<>i-1 then break 
      else 
sk:=sk+1; 
  if sk=4 then 
b:=false; 
  end; 
writeln(n); 
end. 

static void
Main(string[] args)
{

int i;
int n = 21;
bool b=true;
while (b)
{
n=n+70;

for (i = 3; i < 7; i++)
if (n % i != i 1)
break;
if (i==7) b=false;

}
Console.WriteLine(n);
} 

Sub task() 
n = -21 
b = True 
While b 
    n = n + 70 
    For i = 3 
To 6 
If n Mod i <> 
i - 1 Then Ex-
it For 
    Next i 
If i = 7 Then 
b = False 
Wend 
MsgBox (n) 
End Sub 

      .  
,   ,     -

   ,    ,    
  .  
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  : 
«  , ,    2,    1, 
   3,    2,    4,    3, 
   5,    4,    6,    5, 
   7,    6,    8,    7, 
   9,    8,    10,    

9,   11    ». 
     ,   

,    ,  -
 . ,    -

,      11, , , 29!  
    : 

 
var n,i,sk:integer; 
b:boolean; 
begin 
n:=0; 
b:=true; 
while b do 
  begin 
  n:=n+11; 
  sk:=0; 
    for i:=3 to 10 do 
      if n mod i<>i-1 then break 
      else sk:=sk+1; 
  if sk=8 then b:=false; 
  end; 
writeln(n); 
end. 
 

   ,    
 n (n=0),      -

. 
        

  ,     
       . 

    ,   -
 ,          

    : 
«  , ,  
•    2,    1,  
•    3,    2,  
•    4,    3,  
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• … 
•    k-1,    k-2, 
•   k    » 

    ,  k   -
       .  ,  
    k,   k,  

   . 
Pascal 
ABC 

var n,i,sk,k:integer; 
b:boolean; 
begin 
readln(k); 
n:=0; 
b:=true; 
while b do 
  begin 
  n:=n+k; 
  sk:=0; 
for i:=2 to k-1 do 
if n mod i<>i-1 then break 
else sk:=sk+1; 
if sk=k-2 then b:=false; 
end; 
writeln(n); 
end. 

‘   
‘ 
‘  k 
‘ 
‘ 
‘ 
‘ 
‘ 
‘ 
‘ 
‘ 
‘   

C# static void Main(string[] args)
{

int i;
int n = 0;
bool b=true;
int k = int.Parse(Console.ReadLine());

while (b)
{
n=n+k;
for (i = 3; i < k; i++)
if (n % i != i 1) break;
if (i==k) b=false;
}

Console.WriteLine(n);
} 

// 
//    
//  
// 
//  k     
//  
// 
// 
// 
// 
// 
//   

VBA Sub task() 
k = CInt(InputBox("  ")) 
n = 0 
b = True 
While b 
    n = n + k

‘  ‘  
‘  k 
‘ 
‘ 
‘ 
‘ 
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     For i = 2 To k - 1 
If n Mod i <> i - 1 Then Exit For 
     Next i 
If i = k Then b = False 
Wend 
MsgBox (n) 
End Sub 

‘ 
‘ 
‘ 
‘   

:     , 
 ,       k -

   .    -
 k ,   . 

       
      . 

        
 ,   ,    -

      , -
  . 

      -
     – , , -

, ,  –    ,   ,  
     .  

         
 .      

     , , ,   
Pascal ABC. 
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      Pascal ABC, 

      VBA,   C#. 
      -

      k=7, k=11, k=13. 
, ,      -

  ,     k. 
,       ,    

 ,   .   -
 ,     . ,  
 ,       

   ( ,  ). 
, ,    k    -

  ,      
    k.    -

  : 
•    
•   ,     -

 ,    . 
     -

   ,   –   
poisk_n (  C# –  ).   ,   

  ,      
(      ),  ,  

  ,  . 
,     poisk_n,    

  k,       -
 n.        -

     k.    -
      . 

Pascal 
ABC 

function poisk_n(k:integer):integer; 
var n,i,sk:integer; 
b:boolean; 
begin 
n:=0; 
b:=true; 
while b do 
  begin 
  n:=n+k; 
  sk:=0; 
  for i:=2 to k-1 do 
  if n mod i<>i-1 then break 

-   
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  else sk:=sk+1; 
  if sk=k-2 then b:=false; 
  end; 
poisk_n:=n; 
end; 
 
var r1,r2,r3:integer; 
begin 
r1:=poisk_n(7); 
writeln(r1); 
r2:=poisk_n(11); 
writeln(r2); 
r3:=poisk_n(13); 
writeln(r3); 
end. 

 

r1=poisk_n(7) 

 

 

 

r1,r2,r3 

 

r2=poisk_n(11)   

r3=poisk_n(13)   

 
C# class Program

{
static void Main(string[] args)
{

int r1 = poisk_n(7);
Console.WriteLine(r1);
int r2 = poisk_n(11);
Console.WriteLine(r2);
int r3 = poisk_n(13);
Console.WriteLine(r3);

}
static int poisk_n(int k)
{

int i;
int n = 0;
bool b = true;
while (b)
{

n = n + k;
for (i = 3; i < k; i++)

if (n % i != i 1)
break;

if (i == k) b = false;
}
return n;

}

} 
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VBA Function poisk_n(k) 

n = 0 
b = True 
While b 
     n = n + k 
     For i = 2 To k - 1 
     If n Mod i <> i - 1 Then Exit For 
     Next i 
If i = k Then b = False 
Wend 
poisk_n = n 
End Function 
 
Sub task_new() 
r1 = poisk_n(7) 
MsgBox (r1) 
r2 = poisk_n(11) 
MsgBox (r2) 
r3 = poisk_n(13) 
MsgBox (r3) 
End Sub 

 

:       
       -

 (   ). ,  -
  ,     ,   -

  . 
,       
,         

•  , 
•  , 
•   . 

    ,    
 .   – ,   

    .   , -
     : 

function recurrent(…):…; 
begin 
recurrent(); 
end; 

,      , -
   . ,  ,   -
  ,      
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     ,  -
  : 

function recurrent(…):…; 
begin 
if (< >) then recurrent() else recurrent=…; 
end; 

     -
    n!=1*1*2*3*…*n. 
Pascal ABC C# VBA 

function 
f(k:integer):integer; 
begin 
if k<>1 then  
f:=k*f(k-1) 
else  
f:=1; 
end; 
 
var r1:integer; 
begin 
r1:=f(6); 
writeln(r1); 
end. 

class Program
{

static void Main(string[]
args)

{
int r1 = f(6);
Console.WriteLine(r1);
}

static int f(int k)
{
if (k != 1) return k*f(k

1);
else return 1;
}

} 

Function f 
(k As Integer) 
    If k <> 1 
Then 
    f = k * 
f(k - 1) 
    Else 
    f = 1 
    End If 
End Function 
 
Sub task() 
res = f(6) 
MsgBox (res) 
End Sub 

 
   .  -

  ,  6!,   f    
6: f(6).  

   f ,  n!=1*1*2*3*…*n 
   n!=n*(n-1)*(n-2)*…*1:    

   .   ,  
n!=n*(n-1)*(n-2)*…*1=n*(n-1)! 

       -
  f: f(n)=n*f(n-1).      , 

         
,       .  
 ,   f(6)   -

 : 
•   f   6:    -

; ,      -
  6*f(6-1)  (if k<>1 then f:=k*f(k-1)).   f(6)  
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:       f  
 5; 

•   f   5:    -
; ,      -

  5*f(5-1).   f(5)  :  -
     f   4; 

• … 
•   f   2;    -

; ,      -
  2*f(2-1).   f(2)  :  -

     f   1; 
•   f   1:   ; 

,       1 (else 
f:=1;).   f(1) :    -1 – -

   f(2) ; 
•    f(2): 2*f(2-1)=2*1=2;  

 f(2) – 2 -     f(3); 
•    f(3): 3*f(3-1)=3*2=6;  

 f(3) – 6 -     f(4); 
• … 
•    f(6): 6*f(6-1)=6*20=120;  

 f(6)    . 
       

       
    .   -

 ,       -
   ;     -

     ,    -
  .      -

  .     – . 
    n   ,  -

    False. 
Pascal ABC 
 
function test(n,k:integer): boolean; 
begin 
  if (k=1) then  
  test:=false 
  else 
    if (n mod k=k-1) then 
    test:=test(n,k-1) 

C#

class Program
{

static void Main(string[] args)
{

int n = 0;
bool b=true;
while (b) 
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    else 
    test:=true; 
end; 
 
var b:boolean; 
n:integer; 
begin 
n:=0; 
b:=true; 
while b do 
begin 
  n:=n+7; 
  b:=test(n,6); 
end; 
writeln(n); 
end. 

{
n=n+7;
b=test(n, 6);
}
Console.WriteLine(n);

}
static bool test(int n, int k)
{

if (k == 1)
return false;

else
{

if (n % k == k 1)
return test(n, k 1);

else
return true;

}
} 

VBA 
 
Sub task () 
n = 0 
b = True 
While b 
n = n + 7 
b = test(n, 6) 
Wend 
MsgBox (n) 
End Sub 
 
Function test(n, k) 
If k = 1 Then 
test = False 
Else 
    If n Mod k = k - 1 
Then 
    test = test(n, k - 1) 
    Else 
    test = True 
    End If 
End If 
End Function 

 

n=0 

 

 

n 
t=test(n,6)   

 
( ) 

 ( ) 
t 

t=true 

n=n+7 

 

 ,     

1.   
2.    . 
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 9 (     
 , 2014/15 .   ( ) 

, . ).   9–11  

«  ».      
       

  («  »).   -
    .  

           
1  Y01 9KM  ,  ,  

  
    

2  AB179   ,         
3  O 2645   ,  

  
  

4  3384CT   ,  
  

  

   « »      -
 .  ,    
     ,    

.       ,  
      ( , 

).     1  10 , -
      (  -

      ).  
      , -

   ,    , 
  1 –    , 2 –  -
 , 3 –  , 4 –  .   

  (        ),  
   0.  

      .  
     

  
Y019KM 1 

A9999 0 
OH2645 3 
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       -  
 ;  ,   

      . 
,      -

    .    
  (        
 )     
  . 

 

    . 
 . 

 . 

  .  

     :   
       

    .  
      .  

    ,     
.        

     4.  
  string    

 . ,   string   -
   .  Pascal ABC   C#  –   

.        
 ,    ( , ,  

 ),      , 
  . 

  char    . -
     ,    

     -
 UNICODE     –  UNICODE  -

. 
   ,  UNICODE  ‘s’  

115,  UNICODE     ‘t’  116.  
,      . 

   UNICODE. ,  ‘s’<’t’.  
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 ‘S’<’s’.  

 
     (  -

  UNICODE)      -
    : 

•  (   )  ,    
 ,         

‘0’      ‘9’. 
•        -

 (    –   ),   
     ‘A’     ‘Z’.  

:       -
       -

 . ,  ,    (  
  ),   .    -
  Pascal ABC   C#  ,   –   -

.         
 s. 

 
   ,  s,    

    ,   :  
• s[2] –      s,    ‘b’;  
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• s[5] –      s,    ‘e’.  
• s[s.Length] –     s,   

s.Length. s.Length –     s. , 
s[s.Length] –  ‘g’. 

 VBA        
Mid(s, 1),       s  (  

 ) 1 . 
     ,  -

  – ,       -
 .       5  6 

.  ,   -
    ,    
,     5  6. 
 ,      -

,        - . 
 

 

 

  
 s 

 

 

1-  
  s 
? 

 

 

1-   
and 2-  –  
and 3-   
and 4-   
and 5-   

 

 

  
 2 

length(s)=6 

 

 

  
 0 

length(s)=5 

1-  
  s 
? 

 

 

2-  
  s 
? 

 

 2-  –  
and 3-   
and 4-   
and 5-   
and 6-   

  
 4 

 

3-   
and 4-   
and 5-   
and 6-   

 

 

 

 

2-  
  s 
? 

 

 

 3-   
and 4-   
and 5-   
and 6-   

 
  

 3 

  
 1 
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 -  ,   
•        

     
  (  ,    -

  –    ).  
•       -

   goto      
       . 

    
•       , 

    (test_num)    
(test_char)  .      

 ;     -
    true,  ; false,  . 
•   type_ts (   )  

        . 
         -

   . 

 
 

 

   
 s 

 

 

1-  
  s 
? 

 

 

1-    
and 2-  –  
and 3-   
and 4-   
and 5-   

 

 

length(s)=6 

 

 

type_ts 

length(s)=5 

1-  
  s 
? 

 

 

2-  
  s 
? 

 

 2-  –  
and 3-   
and 4-   
and 5-   
and 6-   

 

3-   
and 4-   
and 5-   
and 6-   

 

 

 

 

2-  
  s 
? 

 

 

 3-   
and 4-   
and 5-   
and 6-   

 

 

 

type_ts=0 

type_ts=2 

type_ts=4 

type_ts=3 

type_ts=1 
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   ,   -
. ,    ,    

  .     -
  

•      -
 ; 

•       Pas-
calABC, C#, VBA. 

      -
     ,       

(  ),       -
  .      

  while       
 .  

        -
          

   . 
     ,   -

  ,      
:  

•  #      .  –  
 , ,    s[0]. 

•  Pascal ABC  –    .  -
       1, , -
   s[1].     -

   ‘0’. 
•  VBA    char,    -

    UNICODE  : « » 
  ,   UNICODE   

.       , -
     ,  ,   

 . 

C#: 
class Program

{
static bool test_char(char tc)
{

if ((tc >= 'A') && (tc <= 'Z')) return true;
else return false;

}
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static bool test_num(char tc)
{

if ((tc >= '0') && (tc <= '9')) return true;
else return false;

}
static void Main(string[] args)
{

string s = Console.ReadLine();
while (s.Length != 0)
{

int type_ts = 0;
if (s.Length == 6)
{

if (test_char(s[0]))
{

if (test_char(s[1]))
if (test_num(s[2]) && test_num(s[3])

&& test_num(s[4]) && test_num(s[5])) type_ts = 3;
if (test_num(s[1]))

if (test_num(s[2]) && test_num(s[3])
&& test_char(s[4]) && test_char(s[5])) type_ts = 1;

}
else
if (test_num(s[0]))

if (test_num(s[1]) && test_num(s[2]) &&
test_num(s[3]) && test_char(s[4]) && test_char(s[5])) type_ts = 4;

}
else
{

if (s.Length == 5)
{

if (test_char(s[0]) && test_char(s[1]) &&
test_num(s[2]) && test_num(s[3]) && test_num(s[4])) type_ts = 2;

}
}
Console.WriteLine("

{0}", type_ts);
s = Console.ReadLine();

}
}

}
 
Pascal ABC: 
function test_char(tc:char):boolean; 
begin 
if (tc>='A') and (tc<='Z') then test_char:=true else 
test_char:=false; 
end; 
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function test_num(tc:char):boolean; 
begin 
if (tc>='0') and (tc<='9') then test_num:=true else 
test_num:=false; 
end; 
var s:string; 
type_ts:integer; 
begin 
readln(s); 
  while s<>'0'   do 
  begin 
  type_ts:=0; 
  if (s.Length=6) then 
  begin 
    if test_char(s[1]) then 
    begin 
      if test_char(s[2]) then  
        if 
(test_num(s[3]))and(test_num(s[4]))and(test_num(s[5]))and(te
st_num(s[6])) then type_ts:=3; 
      if test_num(s[2]) then  
        if 
(test_num(s[3]))and(test_num(s[4]))and(test_char(s[5]))and(t
est_char(s[6])) then type_ts:=1; 
    end 
    else 
    if test_num(s[1]) then 
      if 
(test_num(s[2]))and(test_num(s[3]))and(test_num(s[4]))and(te
st_char(s[5]))and(test_char(s[6]))then type_ts:=4; 
  end 
  else 
    if (s.Length=5) then 
      if 
(test_char(s[1]))and(test_char(s[2]))and(test_num(s[3]))and(
test_num(s[4]))and(test_num(s[5])) then type_ts:=2; 
  writeln(type_ts); 
  readln(s); 
  end; 
end. 
 
VBA: 
Function test_char(tc As String) 
If tc >= "A" And tc <= "Z" Then 
test_char = True 
Else 
test_char = False 
End If 
End Function 
Function test_num(tc As String) 
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If tc >= "0" And tc <= "9" Then 
test_num = True 
Else 
test_num = False 
End If 
End Function 
Sub task() 
Dim s As String 
Dim type_ts As Integer 
s = InputBox("  ") 
While Len(s) <> 0 
type_ts = 0 
    If Len(s) = 6 Then 
        If test_char(Mid(s, 1)) Then 
            If test_char(Mid(s, 2)) Then 
                If test_num(Mid(s, 3)) And _ 
                test_num(Mid(s, 4)) And _ 
                test_num(Mid(s, 5)) And _ 
                test_num(Mid(s, 6)) Then type_ts = 3 
            Else 
                If test_num(Mid(s, 2)) Then 
                    If test_num(Mid(s, 3)) And _ 
                    test_num(Mid(s, 4)) And _ 
                    test_char(Mid(s, 5)) And _ 
                    test_char(Mid(s, 6)) Then type_ts = 1 
                End If 
            End If 
        End If 
        If test_num(Mid(s, 1)) Then 
            If test_num(Mid(s, 2)) And _ 
            test_num(Mid(s, 3)) And _ 
            test_num(Mid(s, 4)) And _ 
            test_char(Mid(s, 5)) And _ 
            test_char(Mid(s, 6)) Then type_ts = 4 
        End If 
    Else 
        If Len(s) = 5 Then 
            If test_char(Mid(s, 1)) And _ 
            test_char(Mid(s, 2)) And _ 
            test_num(Mid(s, 3)) And _ 
            test_num(Mid(s, 4)) And _ 
            test_num(Mid(s, 5)) Then type_ts = 2 
        End If 
    End If 
MsgBox (type_ts) 
s = InputBox("  ") 
Wend 
End Sub 
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 ,     

1.         -
      ,  

  .     
  . 

2.    ,   –  -
  if. 

3.     . , 
        -

  3     2    -
 .      ,  

        -
    . 

4.  goto       
.        
      -

 .        
    . 

 10 (   III   
   « » 

 Cognitive Technologies) 

« - » 
 : 1  
 : 64  

:    (stdin) 
:    (stdout) 

        
 .    ,     

    .    -
 ,       

 “+”  “-”   . ,  51349 
    51+3-49,      5. -
      ,    

 n.     ? 
 “ + ”  “ - ”        -
,     . -

         
( ,      5007,   
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  57,      :  
50 + 07 = 57). 

  
      k  
,       (1  k  12).  

      n (0 < n < 1018).  
 
  ,    .  

  ,  ,    
  .     , -

 .      , 
  «impossible» (  ).  

: 
   

51349  
5  

51+3-49=5 

51349  
500 

513-4-9=500 

51349  
100 

impossible 

 

       -  
 ;  ,   

    .   , -
     ,   
. 

  ,    -
      . 

      -
      . 

 

.   .    . 
 .  

  .  

 :  ,    (    -
)       «+»  
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«-»  k   .    
        -

 n;       n,  
    .     -

    ,     
 «+»  «-». 

      
: 

•   
•    
•     . 
•     n.   –  -

 . 
•  ;    –   “im-

possible”. 
       -
.      -

. 
0 :   

     , 
 /   –  ,   

/ : 

Pascal 
ABC 

C# VBA 

readln(s); 
readln(n); 

string s = Console.ReadLine();
int n=int.Parse(Console.ReadLine());

s = InputBox("  ") 
n= InputBox("  ") 

 
        -

 . ,     -
   ,     -
 ,        . 

 –    ,  
   ,  .  -

      .  
        -
 C#,      path,  

     .    sr,  -
      ,    

  path.    s  n  
  .     .  
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   Pascal ABC:   -
 path,   .   f,  

  ,     path. 
 

C#  static void Main(string[] args)
{
string path = "D:\\ \\ \\
2016\\input.txt";
StreamReader sr = new StreamReader(path);
string s = sr.ReadLine();
int n = int.Parse(sr.ReadLine());
sr.Close();
} 

Pascal 
ABC 

var n:integer; 
s:string; 
f:text; 
path:string; 
begin 
path:='D:\  \ \    
2016\input.txt'; 
Assign(f, path); 
reset(f); 
readln(f,s); 
readln(f,n); 
close(f); 
end. 

 
1 :     «+»  «-» . 
    ,   

      «+»  «-». -
      «+»,  «-»  

  –    ins   -
 «+»,  «-», «» (  )     ins  

 s   . 
  
Pascal ABC C# VBA 
var ins:array[0..2] of 
string; 
begin 
ins[0]:=''; 
ins[1]:='+'; 
ins[2]:='-'; 

string[] ins = new
string[3];
ins[0] = "";
ins[1] = "+";
ins[2] = " ";
 

Dim ins(3) As String 
ins(1) = "" 
ins(2) = "+" 
ins(3) = "-" 
 

 
    ins   s   

  m,      s, -
         ins. 
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 …  s[4]s[3]s[2]s[1] s[k]

   s  

  m – string.   m  2·k-1. -
   k –      s. -

  k ,   Length, -
   s. 

 
 … s[3]s[2]  s[1] s[k]

 m:   

1 2 : 
 

 m 

3 4 5 6 k*2-1 

 

    m   -
  s   m:  

Pascal ABC C# VBA 
var  
m:array of string; 
begin 
… 
k:=s.Length; 
m := new 
string[2*k-1]; 
for i:=0 to k-1 do 
m[2*i]:=s.Substrin
g(i,1); 
… 

string[] m = new
string[2 * k 1];
for (i = 0; i < k;
i++)
m[2*i] =
s.Substring(i, 1);
 

k = Len(s) 
Dim m() As String 
ReDim m(k * 2) 
 
For i = 1 To k 
m(2 * i - 1) = 
Mid(s,i,1) 
Next i 
 

 
        -

 m.    m     
 s, , ,    .  C#  

  .  Pascal ABC  VBA  
    .   -

      (1  k  12)  
    ,    23. 

     : -
  ,      

  .  
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  Pascal ABC   VBA  m    . 
     k   . 

        
 .     

. 
    m   -

  ins. 

 
 … s[3]s[2]  s[1] ins[1]ins[1]ins[1] s[k]

 m:   

1 2 : 
 

 m 

3 4 5 6 k*2-1 

ins[1]1  

 

 
 … s[3]s[2]  s[1] ins[1]ins[1]ins[2] s[k]

 m:   

1 2 : 
 

 m 

3 4 5 6 k*2-1 

ins[1]2  

 

 
 … s[3]s[2]  s[1] ins[1]ins[1]ins[3] s[k]

 m:   

1 2 : 
 

 m 

3 4 5 6 k*2-1 

ins[1]3  

 

 
 … s[3]s[2]  s[1] ins[1]ins[2]ins[1] s[k]

 m:   

1 2 : 
 

 m 

3 4 5 6 k*2-1 

ins[1]4  

 

    3 (   ) 
  (k-1):     «+»  «-»  

      . 
  q,      

         q: 
Pascal ABC maxq:=1; 

for q:=1 to k-1 do maxq:=maxq*3;  
for q:=0 to maxq-1 do 

C# for (q = 0; q < Math.Pow(3.0, (double)(k 1)); q++) 
VBA For q = 1 To 3 ^ (k - 1)
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 VBA  : «^» -     
.  

 C#       Math.Pow. -
     ,  3  (k-1) – 

  ;     
   .     -

      . 
 Pascal ABC      . 

   3 ^ (k - 1)   for 
q:=1 to k-1 do maxq:=maxq*3.     

     X^Y = exp(ln(X) * Y) 
,    : 

«» «»  «»  «»  «» 
«+» «»  «»  «»  «» 
«-» «»  «»  «»  «» 
«» «+»  «»  «»  «» 
«+» «+»  «»  «»  «» 
«-» «+»  «»  «»  «» 
…. 

,      m[2] (  -
 )      -

 q ( )  3 

 0
qm 2 qMod3 Mod3
3

. 

   – m[4]   -
       [q/3]  3 

 1
q qm 4 Mod3 Mod3
3 3

. 

  – m[6]     
     [q/9]  3 

 2
q qm 6 Mod3 Mod3
9 3

. 

  ,  ,  qm j Mod3j 23
2

. 
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     ins   
m   : 
Pascal ABC maxq:=1; 

for q:=1 to k-1 do maxq:=maxq*3;  
for q:=0 to maxq-1 do 
begin 
  for j:=1 to k-1 do 
  begin 
    st:=1; 
    for i:=1 to j-1 do st:=st*3; 
  m[j*2-1]:=ins[(q div st) mod 3]; 
  end; 
end; 

C# for (q = 0; q < Math.Pow(3.0, (double)(k 1)); q++)
for (j = 1; j < 2*k 1; j=j+2)
m[j] = ins[(int)(q / Math.Pow(3.0, (double)(j 1)/2)) % 3]; 

VBA For q = 1 To 3 ^ (k - 1) 
    For j = 2 To k * 2 - 1 Step 2 
    m(j) = ins(1 + (q / 3 ^ ((j - 2) / 2)) Mod 3) 
    Next j 
Next q 

    ins  2, 4, 6,…, 2*k-2  -
 m  VBA   q      j  

 2.  C#     0,   
 j=1.  Pascal ABC   , ,  -

      m[j*2-1]. 
Mod –     VBA  Pascal ABC;  

C#      “%”. 
      Pascal ABC  -

 div,  C#   VBA  . 
        

     «51349». 
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2 :      -
  

      ,    
         -

,      : 
1.   
2.    (   -
    ) 

    :  
•    sum,     

: sum=sum+< >   ; 
•  sl  string,     -

: sl=sl+<   >   ,  
    «+»  «-»; 

•  z  Boolean,     -
:  (true)   (false).  

       m:  
  «+»   «-»,     -
 sl. 
  «+»  «-»,    sum,  

           
  z,     -

 .    « »   
,   z     . 

      , -
      . 

,      ,    
   (  ).      -

    / . 
  -     : 

 sl –  ,      -
 .      -

  . 
        

(     string)     (   
 integer).  
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z=true 

 

 
 

m[j]=”+” 

 

m[j]=”-“ 

z=true 

sum=0
sl=”” 

z=true 

sum=sum+( )sl 

j=1 

sl=sl+m[j] 

sum=sum-( )sl 

sl=””
z=true 

z=true 
  

sum=sum+( )sl sum=sum-( )sl 

sl=””
z=false 

j=j+1 

 

 

j>m.Length 

z=true 
  

sum=sum+( )sl sum=sum-( )sl 

 

     C#: 
•       «  -
» –  -     . -
     integer (    

 )   double (     ). 
     : 

 
  (i=d)      

  . 
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•    double   integer   
,    ,    -

: 

 

     ,    -
     . 
•     -
  ,  Convert.ToInt32(<

>)       

 

  ,    d=8.8   
 ,     9.   s=”51” -

   51. 
      

  :  
•    ,  C#    -

: sum = sum + Convert.ToInt32(sl);  
Convert.ToInt32(sl);   sl    -

 Integer. 
•   VBA       

Sum = Sum + CLng(sl) 
CLng(sl)   sl    Long.  

CLng(sl),   CInt(sl)   ,     In-
teger  VBA   2    ,  
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       .  
 Long  4 . 
•  Pascal ABC     

val(sl,v,ve),     sl,   
   v      ve 

(    , ve=0,  ve>0).  
  2      

. 
3 :       

   «+»  «-»;   ,  
  .   ;   -

  “impossible”. 
       
   n.   –   

      .   
       , - 

 “impossible”.  
    :  

•    sk,  ,   
    0,     

    . ,   -
 sk   0,      . 

  ,     -
 . 

•    test,  ,  
     false,   -

    true.     -
   /   . 

  .      -
     z 

(  );      -
      .  

 ,      -
.  (  )     
•   ,     -
 ;    ,  -

    «+»  «-»;   -
  .    ,    -

  (   )  -
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     (   -
 ).  

•    res    -
 .   res=”” (  ). 

        kolz 
(   «+»  «-»   )  kolz_min ( -

   «+»  «-»    
    ).  
  kolz_min –   s (   

«+»  «-»   )     . 
 kolz     ; 

  kolz=0      
  . 

      -
 kolz.      n,   kolz 

 kolz_min.  kolz< kolz_min, ,   -
.    kolz_min   kolz, -

 res  (   )  -
     res  : 

res=res+m[i]. 
  3      

. 
 
C# 
static void Main(string[] args)
{

int i, j, q, sum, sk, kolz, kolz_min; //
string sl; //
string res; //
string s = Console.ReadLine(); //
int n = int.Parse(Console.ReadLine()); // n
int k = s.Length; //
string[] m = new string[2 * k 1]; // m
for (i = 0; i < k; i++) //

m[2 * i] = s.Substring(i, 1); // s
string[] ins = new string[3]; //
ins[0] = ""; // ins
ins[1] = "+"; //
ins[2] = " "; //

sk = 0; //
kolz_min = m.Length; // kolz_min
res = ""; //

for (q = 0;q<Math.Pow(3.0, (double)(k 1)); q++)//
{
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for (j = 1; j < 2 * k 1; j = j + 2)// m
m[j] = ins[(int)(q / Math.Pow(3.0, (double)(j 1) / 2)) % 3];

sum = 0; sl = ""; //2 :
bool z = true; //
kolz = 0; //

for (j = 0; j < m.Length; j++) // m
{

if (m[j] == "+") // "+",
{

if (z) //
sum = sum + Convert.ToInt32(sl); //

else
sum = sum Convert.ToInt32(sl); //

sl = ""; //
z = true; // "+"
kolz++; // 1

}
else

{
if (m[j] == " ") // " ",
{

if (z) //
sum = sum + Convert.ToInt32(sl); //

else
sum = sum Convert.ToInt32(sl); //

sl = ""; //
z = false; // " "
kolz++; // 1

}
else

sl = sl + m[j];// ,
}

}
if (z) //

sum = sum + Convert.ToInt32(sl);//
else

sum = sum Convert.ToInt32(sl);//
// 2

if (sum == n) //
{

sk = sk + 1; //
if (kolz < kolz_min) // , "+" " "

{ //
res = ""; //
kolz_min = kolz; //
for (i = 0; i < 2 * k 1; i++)

res = res + m[i]; //
}

}
}
if (sk == 0) //

Console.WriteLine("impossible");
else

Console.Write(res);
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Console.WriteLine();
}
 
VBA 
Sub task() 
Dim s As String                 '   
Dim k As Integer                ' 
Dim q As Integer                ' 
Dim z As Boolean                ' 
Dim n As Integer                ' 
Dim res As String               ' 
Dim kolz As Integer             ' 
Dim kolz_min As Integer         ' 
 
s = InputBox("  ")   '     
n = InputBox(" ,     ") 
k = Len(s)                      '    
Dim m() As String               '    m 
ReDim m(k * 2)                  '    m 
 
For i = 1 To k                  '   m 
m(2 * i - 1) = Mid(s, i, 1)     '   s 
Next i 
 
Dim ins(3) As String              '     ins 
ins(1) = ""                     '   ins 
ins(2) = "+"                    ' 
ins(3) = "-"                    ' 
 
kolz_min = k                       '    kolz_min 
sk = 0                   '      
 
For q = 1 To 3 ^ (k - 1)         '    
    For j = 2 To k * 2 - 1 Step 2 
    m(j) = ins(1 + (q / 3 ^ ((j - 2) / 2)) Mod 3)  '      m 
    Next j 
     
    Sum = 0              '2 :     
    sl = ""              '   
    z = True             ' 
    kolz = 0             ' 
     
    For j = 1 To 2 * k   '   m 
        If m(j) = "+" Then'    "+",    
            If z Then     '      
            Sum = Sum + CLng(sl)    '  
            Else 
            Sum = Sum - CLng(sl)    '   
            End If 
            sl = ""                 '   
            z = True                '      "+" 
            kolz = kolz + 1         '     1 
        ElseIf m(j) = "-" Then      '   "-",    
            If z Then               '      
            Sum = Sum + CLng(sl)    '  
            Else 
            Sum = Sum - CLng(sl)    '   
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            End If 
            sl = ""                 '   
            z = False               '      "-" 
            kolz = kolz + 1         '     1 
        Else 
         sl = sl + m(j)'    ,      
        End If 
    Next j 
            If z Then               '     
            Sum = Sum + CLng(sl)    '  
            Else 
            Sum = Sum - CLng(sl)    '     
            End If                  '  2  
    If Sum = n Then            '       
        sk = sk + 1            '      
        If kolz < kolz_min Then '  ,    "+"  "-" 
            res = ""        '   ,   
            kolz_min = kolz     '     
               For i = 1 To 2 * k 
               res = res + m(i) '     
               Next i 
            End If 
    End If 
 
Next q 
If sk = 0 Then MsgBox ("impossible") Else MsgBox (res)      '   
 
End Sub 
 
Pascal ABC 
var i,j,q,sum,sk,n,k,maxq,st, kolz,kolz_min:integer; //  , 
sl,s,res:string;                                // 
z:boolean;                                      // 
m:array of string;                              //   m, 
ins:array[0..2] of string;                      //    
v,ve:integer;                                   // 
begin 
readln(s);                           //    
readln(n);                          //   n 
k:=s.Length;                         //    
m := new string[2*k-1];            //    m 
 
for i:=0 to k-1 do                   //   m 
m[2*i]:=s.Substring(i,1);            //   s 
 
ins[0]:='';                          //   ins 
ins[1]:='+';                         // 
ins[2]:='-';                         // 
 
maxq:=1;                              //     
for q:=1 to k-1 do maxq:=maxq*3;      //  
 
sk:=0;                //      
kolz_min:=k;            //    kolz_min 
for q:=0 to maxq-1 do              //    
begin 
  for j:=1 to k-1 do                   // 
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  begin                                // 
    st:=1;                             // 
    for i:=1 to j-1 do st:=st*3;       //     
  m[j*2-1]:=ins[(q div st) mod 3];     //     m 
  end;                                 // 
                     //2 :     
  sum:=0;                     //   
  sl:='';                     // 
  z:=true;                    // 
  kolz:=0;                    // 
    for j:=0 to m.Length-1 do //   m 
    begin                     // 
      if m[j]='+' then        //    "+",   
          begin               //  
          val(sl,v,ve);       //   sl   v  
            if z then         //      
              sum:=sum+v      //       
              else            // 
              sum:=sum-v;     //  
          sl:='';             //   
          z:=true;            //      "+" 
          kolz:=kolz+1;       //     1 
          end 
      else 
        if m[j]='-' then      //    "-",   
          begin               // 
          val(sl,v,ve);       //   sl   v  
              if z then       //     
              sum:=sum+v      //      
              else            // 
              sum:=sum-v;     //  
          sl:='';             //   
          z:=false;          //      "-" 
          kolz:=kolz+1;       //     1 
          end                 // 
        else                  // 
          sl:=sl+m[j];        //     ,  
    end;                      //      
              val(sl,v,ve);   //     
              if z then       // 
              sum:=sum+v      //  
              else 
              sum:=sum-v;     //     
                              //  2  
  if sum=n then             //       
      begin 
      sk:=sk+1;               //      
      if kolz<kolz_min then   //  ,    "+"  "-" 
        begin                 //    
        res:='';              //   
        kolz_min:=kolz;       //     
        for i:=0 to 2*k-2 do res:=res+m[i];//     
        end;                  // 
      end;                    // 
end;                          // 
if sk=0 then writeln('impossible') else writeln(res);  //   
end. 
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